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The Code No. and Set on the right side of the question paper should be written by the
candidate on the front page of the answer-book.
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Before beginning to answer a question, its Serial Number must be written.
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Don't leave blank page/ pages in your answer-book.
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Except answer book, no extra sheet will be given. Write to the point and do not strike the
written answer.
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Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective type
questions.
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Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after examination.
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NOTE: The question paper is divided in to four sections (A, B, C, and D)

i) SECTION A consists of 1 Question (10 Objective Type Questions of 1 mark each).

ii) SECTION B consists of 4 Very Short Answer type questions of 1 mark each.

iii) SECTION C consists of 5 Short Answer type questions of 2 marks each.

iv) SECTION D consists of 4 Essay type questions of 4 marks each with Internal Choice.

Ie: 52 99 IR Wel (A, B, C, D) # dier = ¥

i) AT A & I TEAT | A 1 37 & 10 TEIATS TR & T &
i) QeI B H 1 37k o 4 31T oY 3T TR & T2 &

i) FFRMT C H 2 3T o 5 oY FTNT YR o6 T &

iv) T D H ATARS fashed & A1 4 31 & 4 a9 TR & 92T 8|

SECTION-A

1. All questions are compulsory and carry 1 mark each. 10
Tl geat Jifeard § 3R 9% 1 37 T g

What does FTP stand for?

a) File Type Processor

b) Full Text Processing

c) File Transfer Protocol

d) Fast Transmission Protocol

FTP &1 9 &TH & g7

a) HISel TFT T

b) Fel TFEE HIeaIA

C) BIS TAW Aietehiel

d) wrEe gEfAeT Wetard

ii. Which normal form guarantees that all non-prime attributes (attributes that are not

part of any candidate key) are fully functionally dependent on the entire primary
key?

et Y A B ARE S § T @l AleT wgA Ufesgew (AAvad S faelr ot
*f3sT ol @1 foedm 761 §) U e & FricAs T § HYOT Grafdd Hoft W @R
877

a) INF

b) 2NF

c) 3NF

d) None of the above / 39d&d & & HI$ wgT



iii. Which HTML tag is used to make text underline on a web page?
A9 Ul UX eFEe Wifehd a0 & foIw fvg HTML &1 1 3uier fhar Sirar g7
a) <iji>
b)
c) <u>
d)

<b>
<n>

iv. If the elements “7”, “4”, “3”, and “8” are placed in a queue and are removed one at
a time, in what order will they be removed?
Ife element "7", "4", "3", 3R "8" & TF queue H T@T IATT § 3R TH IR & ger
fear Srar 8, af 3¢ fhE A # gerar Jrwen?

a) 8,3,4,7
b) 7,4,3,8
c) 3,8,74
d) 4,3,7,8
V. The Tag is used for making the text bold.
SIT T 3UANT text HI des ol & folv fRaT 1T &
vi. The operator is used for performing multiplication of two numbers in C++.
C++ & & HEA3 T U el & forw 3TRET FT 39AT @ gl
vii. Friend functions in C++ can access the private and protected members of the

class they are friends with True/ False
$hs therlel 38 FaT & falsll iR WA Feedl dh 9ga Tohd § oieteh @rer 9 s &l
/38T

viii. The <body> tag in HTML is used to define the title of a webpage, which is
displayed on the browser's title bar or tab. True/ False
HTML & <body> 37 & 3uier fhelT dadsr & M & aRenia axar & forw fRar
ST §, S §13eR & MF aRX A7 &9 W 9T T §1 gaa/3/8a

Direction: In the questions given below, there are two statements marked as
Assertion (A) and Reason (R). Choose the correct option out of the choices
given below in each question:



fader: & BT a1 et A, FUA (A) AR FROT (R) & ¥ # AT ar :399 g1 535
T2 H o GT 91T Ahedl A & ol [aded &1 a3 HifSw:

Assertion: The SQL UPDATE command is used to modify existing records in a
table.
Reasoning: It allows you to change the values in one or more columns of a
specified table.

.  Both (A) and (R) are correct and (R) is correct explanation of (A).

[I. Both (A) and (R) are correct and (R) is not the correct explanation of (A).

lll.  (A) is true but (R) is false.
IV. (A) is false but (R) is true.

YT (A): SQL UPDATE command fdT table # #Hisar Repls &l d@fad &=t &
forT 3uter fFar Srar g

FROT (R): Ig 39T table & Teh AT 3i&F columns H values &I Seo= I AT
I

Assertion (A): The Internet is a global network that connects millions of computers
worldwide.

Reason: The Internet can run without standardized set of protocols to enable
communication between different devices on the network.

[. Both (A) and (R) are correct and (R) is correct explanation of (A).

[.  Both (A) and (R) are correct and (R) is not the correct explanation of (A).
lll.  (A) is true but (R) is false.
IV. (A) is false but (R) is true

FYT (A): TCLIC Teh AR sicas § ot TaRI H FUST hegedl ol Fhelare Tl g

FROT (R): sicdsh W [AfFficar 3g0N & T TAR AT TETH el & [olT SeIeic AICihid
& HleTehlehe T o o=l ToT HeveTl &

. (A)AR (R) ar=r T&r g 3R (R), (A) Fr T8 carean gl

. (A) 3R (R) ar=r @&r g 3R (R), (A) Fr T&r carear a8 gl

. (A) T § oifeet (R) 318cT gl

IV. (A) 39T g ofha (R) IcT &l



SECTION-B
(3TTHTIT-9)
All questions are compulsory. Marks are indicated against each question.

T oo fAard €1 9AF g & 3 3T WA QU AT
2. Define Structure in C++. (1 mark)
C++ & TegFax I gRaRa +i|
3. Write syntax of “do while” loop in C++. (1 mark)
C++ # "do while" oU &1 f&esa fod|
4. Define Normalization. (1 mark)
AlFcTsoe # gk ffS)
5. What is the full form of SQL? (1 mark)
SQL T BT B FIAT g7

SECTION-C
(3reTsTaT-ih)

Marks are indicated against each question.

Ucdd 9T & 3 396 A U AT §

6. Write the HTML code that will produce the given output on a webpage.
ag HTML %15 fod S fondlt dedst W T 1w 3m3eqe & F&ga |
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Computer Science

Computer Science

Computer Science
Computer Science

Computer Science




10.

OR/ &t
Explain any two formatting tags in HTML.

HTML & freY off or wisffear dom 1 gasmd|

Define Data Member and Member Function in C++ with an example. (2 marks)
T 30T & ATY C++ H 3T AN 3R A HaA & earedr H|

Explain MIN () function in SQL, providing its syntax and an example. (2 marks)
SQL & MIN () HeleT HF AT, 3TH" Head 3R Th 38T Ui i

Explain any two DDL Commands in SQL with example. (2 marks)
3cTg0T & WY SQL # fer 8 ar DDL Commands i arear il

One student, Priya, from your school wants to check out the education board's
website. She's want to know that how she can go to the website and get some
important study stuff. Right now, she's trying to figure out how to explore the
website.

(2 marks)

9 Fhol T Teh BT VAT R&T NS T @8 @A T8l &1 T8 A=A a6t &

f& a8 dease W H& S Tohcll § 3R FT AcaquT I FHAM Aol T Fohell g
37T, 98 IE UAT SIITleT I HITAA FT IET & foh dGAISC T Il Hd 9MAT ATV

. What is the term commonly used to refer to the address of the education
board's website that Priya wants to explore?

IMAAR W AT NS $r Jgase & gd FI TefHd A & [T SisT a1 g 3uANeT
frar Sirar & o B @iser agdr 82

a) URL

b) HTML

c) CPU

d) RAM

Il. Which symbol Priya will find in the web address of the education board's
website while exploring it?

Oar &1 I 915 T J9Ase F a9 9d H BT AT TdIF Heg [Holam?

a) /

b) #

c) @



SECTION-D (3rfsimar-gY)

11. What is Linear Data Structure? Give algorithm of POP operation in stack data
structure and explain it with an example. (4 marks)
AN 3T TeFaR FIT §? T&F 3T TeaR H POP TR &1 TeaRed ifav 3k
S8 TH 3aTXT & T FASST

OR / &t
What is sorting? Explain Bubble Sort in detail with example.

Jifcar a7 § ? S Hic Pl 36607 Afgd [ATAR & THSAV

12. What is SDLC? Explain the key stages of software development Design,
Coding, and Maintenance. (4 marks)
SDLC o1 8?7 HIFeaay faepd & JH@ =TT f3irsa, Hifsar 3R tawama f qasl|
OR / &t
Explain different levels of software testing

HiFed) o # fafdiesT TRT & SR |H=|

13. Describe the TCP/IP model in networking. Explain any two layers of TCP/IP
Model. (4 marks)
Acafdsr & TCP/IP Alsel & auied Y| TCP/IP Afsel #T fhegl & Wl I TS
A

OR / =1
Explain the following:
farafaf@a $r sarear fifaw
i. LAN
i. MAN
iii. WAN
iv. WWW

14. Explain any 4 types of Inheritance in C++. (4 Marks)
C++ #H fohedl 4 YR & SAgReH &l Iredm Hfv|

OR / &t

Write a C++ program that defines a class called "Employee" with data members
for employee name and salary. Use the scope resolution operator (::) to define a
member function named "displayDetails" outside the class. The function should
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display the employee's name and salary.

Teh C++ Jrnd ford St FATRT & a7 3R ade & fow st ser aeear & ary
"employee" sITH& T class I IRATT T &1 class & X "displayDetails" e
member HeRIe &I IRATT & & T FhIT Ralogeet 3O (1) 1 39T |
HFMA Pl HHART HT A iR add 9T a1 arfgu|



